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(A) Seleet and write the correet answer of the following multiple choice type of questions:
(1 mark each)

The conjugate of complex number 3-2iis

a) 3+2f b)y-1+2 «c©) -3-2 dy =%

: iy [
) The valueof 17 15 o

al -l ¢ -i d) 0
iy ™ termof the followingGP.is
2.8.32.128.512,.......0

yyir=l Ay -} =1
0Py 207 g

5 i | :
v) ¥ l1 'sl Then value of x 15
ra X
a) 3 b)-5¢ 5 d)0

/) The derivative of the fnction x" is
Q)  12x" b 11x® ©) 13 et

i) ForaG.P. 1,-5,23, -125.......... value of Common Ratio (r ) is

1 |
a) -5 b2 0 5d)—g

afe whether the following statement are TRUE OR FALSE. (1 mark ench)
Complex number whose imaginary part is zero is called real number.

bt
evalueof |1 -1 1] is4
F et S,

1
r=logx then =—=—
y=logx i
ill in the following blanks: (1 mark each)
eciprocal of terms of G.P.arealsom
the Comlex number of the form @ +ih , Symbol 1 15 called as
¢ rate of change of demand with respect to price is called the & "
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1) Attempt amy two of the following:

) Find the value of '€y - "Cie

i) Following data of hushands (X) awl nﬂi-u

ﬂ;’ﬂuhﬂu:? tuble II% MN hhmg aned ¥

i w.z:ms.zmm.anw:g

(26,200 (25,19 (25,19) (27.23)(26,19)
(27,22) (26.21) (25,20)(28.22) 25.. e

Al finsd conditional frequenicy disteibution of age of hushands when & 24 years.

X L 3 ud
Y 12 Ll )

©6. A) Attempt any two of the following; N e e (2X3=6)
i Find correlation coefMicient between y Iﬂd]lhﬂh%ﬁﬁ | i g
_ nrslirtl'!.y-ll# w 30Ler, =308 (x - xhy - y}=-_t§!&_':-_ i
}ﬁ Find the mumnber of 4 digit nambers mmmmmuﬁﬁﬁmmﬁ.iu
s 1-}qﬁplswnhupuled

:_- ‘I_‘wmlium:l‘]nwn simultancously 25 times. The folk
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Q.1 Choose the correct alternative and fill in the blanks: ()
#. Yoga is one of the gifts that has given to the world.(India, Pakistan, Nepal)
b, Holding of the breath is . (Purak, Rechak, Retention)
c. W.H.O has declared to be a disease (Thickness, fattiness, Obesity)
d. The food items consisting of these types of test. (Six, Five, Two)
Q.2 Match the following: (4)
A B Answer
a. P.T Usha 1. Cricket A.
b. P.VSindhu 2. Less than 18.5 B,
¢ Undereweight 3. Athlete C
~d. Smriti Mandhana 4. Badminton D.
1.3 State the following statement are ‘True’ or ‘False’ : (@)
a. Sit ups or Crunches reduces abdominal Fat. 1,

b. Body mass Index is measurement of weight with respect to the height. 2,

. There are Total 12 players in Cricket game. 3,
d. Weight of the Shot-put (Women} s 4 kg. 4.
A  Answer the following Questions iin one sentence. @

a laillllnll any two outdoor game name?
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SECTION-1:PROSE :
(Reading for comprehension, Language Study, Summary and Mind Mapping)

Q.1 (A) Read the following passage and complete the activities given below: (06 Marks)
She opened the door for him but on the threshold they both stood still, for again footsteps could be heard
approaching, this time from the far south.
*May be it's Tom,’ said Mrs. Adis.
“There’s more than one man there, and 1 can hear voices.'
“You'd better go back," she said shortly. *Wait till they've passed, anyway.”
With an unwilling shrug he went back into the little dusty shed, which he had come to hate, and she Jocked
the door upon him. The footsteps drew nearer. They came slowly and heavily this time. For a moment he
thought they would pass also, but their momentary dulling was only the crossing of the strip of grass outside
the door. The next minute there was a knock, It was not Tom, then.
Trembling with anxicty and curiosity, Peter Crouch put his eye to one of the numerous cracks in the door
and looked through into the kitchen. He saw Mrs. Adis go to the cottage door, but before she could open it a
man came in quickly and shut it behind him.
Crouch recognized Vidler, one of the keepers of Scotney Castle, and he felt his hands and feet grow leaden
cold. They knew where he was then. They had followed him, They had guessed that he had taken refuge
with Mrs. Adis. It was all up. He was not really hidden; there was no place for him to hide. Directly they
opened the inner door they would see him. Why couldn't he think of things better? Why wasn't he cleverer
at looking after himself - like other men? His legs suddenly refused to support him, and he sat down on the

pile of sacks.
A.1 Complete the web and write down Peter Crouch's emotions as he hid in the shed. )

®
Peter
# | Crouch’s | & -2

emotions

e

A 2.Give Reason: Peter Crouch did not leave Mrs. Adis’s house, @
A 3.Guess: Peter Crouch repented for entering Mrs. Adis'’s cotage. Give its evidence. 2)

Q.1(B) Language Study 4 hhr[l;)}

B1 Do as directed:
(i) Car drivers can be given an alternative route, when there is a traffic jam.

the correct alternative that indicates modal auxiliary showing *Certainty")
mmh‘mmhﬁmmﬂmmgmmm?hﬂfﬁnjm.
{‘]){:ﬂli Mhﬁmmdmﬁmee‘mnlhﬂ:ﬁﬁﬁmmﬁjm
(Gj'ﬁrli mhmmﬂmﬁwmm,whchEunmﬂcjm
mé&”mﬂhwmﬂmmemm,wlmﬂ:m:isnh'afﬁnjm.
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(ii) You will never know unless you try-

(Choose the correct alternative to get * If... Not * form of the given sentence.)
(a) You will never know if you not try.

(b) You will never know if you do not iry.

(¢) If you never know you won't try.

(d) You will have to try if you want 10 know. o

(iii) These books have brought about very good changes in the lives of thousands of readers.
(Choose the correct aliernative to rewrite the sentence beginning with ‘Very good changes........)
(a) Very good changes in the lives of thousands of readers have been brought about by these books.
(b) Very good changes these books have brought in the lives of thousands of people.

(c) Very good changes in the lives of thousands of readers have brought by these books.

B2 Spot the error and rewrite the correct sentence. 1)
There is not any substitute for hard work. =

(.2(A) Read the following extract and complete the activities given below: (06 Marks)
It is true that progress in knowledge has led to the development of science and which has, in turn, I-"f‘?‘fo“ﬂt?lj'
altered our environment, For example, fertilizers and insecticides have increased agricultural output, which
is required to feed the swelling population of the world. However, both give rise 10 pollution. Each one in
the modern world has accumulated in our bodies a fow milligrams of D.D.T.. which is Orgiﬂo*fhlomlf. a
type of insecticide. The DDT level in fish is rising and already some fish-eating birds are becoming sterile.
Fertilizers used in farmlands are washed away by rain into rivers, lakes, and reservoirs. The heavy intake
content of fertilizers leads to the wild growth of vegetation in them, which in turm deoxygenizes the Walers,
and as a result, all the fish is lost. Massive industrialization too has led to serious pollution of the
environment. Millions of tons of smoke, sulphur gas, ash, and unknown quantitics of joxic by-products are
sent up every day all over the world and we simply do not know if our chemical environment is slowly
poisoning us all. What is even worse, the increase in the carbon dioxide content of the atmosphere from
burning oil and coal may, in time, prevent the escape of the sun's heat from the earth. Leading to & rise in the
carth's temperature, the melting of ice caps, and a rise in the level of the ocean. The sca has become a cheap
dumping ground for all kinds of waste products. Although the sea has a great capacity to break down all
kinds of waste. this capacity is not unlimited, especially in shallow seas.
Industrial effluent gets washed out to sca, for industries tend to concentrate in coastal areas in order to be
able to dispose of unwanted waste cheaply. Atomic wastes as well as poison gases are dumped in the sea by
industrial and military authorities.
It would be foolish to shut our cyes 10 the dangers of the pollution that human beings cause. It is true thal
more and more people have become aware of the dangers of pollution. Rivers are being gradually restored to
health: Intemational organizations are trying to keep the seas clean. Industries are being asked to pay large
sums to meet the cost of disposing of effluents, Campaigns are being organised against cutting down trees.
Public opinion is gradually being aroused to concern, and if all of us become concemed about ow
environment, we shall be able to keep the carth habitable for future generations.
Al Read the following sentences and state whether they are TRUE or FALSE: 2)
(i) Excessive industrialization has led to serious pollution of the cnvironment.
(ii) Progress in knowledge has led to the development of science and technology but has kept

the environment intact. ;
(iii) Now a day’s more and more people have become unaware of the dangers of pollution.
(iv) Sca has a great capacity to break down all kinds of waste but this capacity is limited.

A2 Find out from the extract how people have become aware of the dangers of pollution and the
measures that they are taking to control it. )

A3 “It would be foolish to shut our eyes to the danger of pollution that human beings cause."Describe
or state at least two steps that you would take to protect the environment of your area. 2)

(B) Summary

Write a summary of the above extract with the h

suggest a suitable title. SE g stim 3)
%Tiﬁ"i:“ .:m: polluﬂ.ou survival problem....... pollution result of. ..........contamination of

(C) Mind Mapping
Develop a ‘Mind Mapping’ frame or design on ‘Organising a Birthday Party’. ®
] Page 2 . p.1.0
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SECTION I1I- POETRY
(Poetry and Appreciation)
Q3. (A) Read the following extract and complete the activities given below: (08 Marks)
Earth has not anything to show more fair:
Dull would he be of soul who could pass by '
A sight 5o touching in its majesty:
This city now doth, like a garment, wear
The beauty of the morning; silent, bare,
Ships, towers, domes, theatres, and temples lie
Open unto the fields, and to the sky;
All bright and glittering in the smokeless air.
Never did sun more beautifully steep
In his first splendour, valley, rock, or hill;
Ne'er saw [, never felt, a calm, so deep!
The river glideth at his own sweet will:
Dear God! the very houses seem asleep;
And all that mighty heart is lying still!
Al.Pick any two correct alternatives from the options below: (2)
(i) Everyone appreciates the view from the bridge.
(ii) The momings are very chaotic.
(it} The sunrise creates a great impact on the surroundings.
{iv) The residents miss the beautiful sight.

A2. ‘Dull would he be of soul who could pass by

A sight touching in its majesty:’
Explain the poet's point of view in light of these lines, 2)
A3.Write your experience when you felt revitalized in the company of the nature. (2)
Ad. Pick out two examples of the Figure of Speech ‘Personification” from the given extract. (2)

Q.3(B)Appreciation: {(04Marks)
Read the given extract and write an appreciation of the poem using the following points:

About the poem, poet and title
Theme

Poetic devices/language/style
Special features/ Novelties
Messape

. & & & @

There is another sky,
Ever serenc and fair,

And there is another sunshine,
Though it be darkness there;
Never mind faded forests, Austin,
Never mind silent fields—
Here is a little forest,
Whose leaf is ever groen;
Here is a brighter garden,
Where not 4 frost has been;
In its unfading flowers
1 hear the bright bee hum:
Prithee, my brother,

Into my garden come!

SECTION II: WRITING SKILLS
Q.4 Complete the activitics as per the instructions given below: (08 Marks)

' Virtaal Mess s
(A}“ iml formation given H'I"m"' write a message which Mohit lefit for his brother Mohan. Do not add any

new information. The message should not exceed more than 50 words.
Rajan called up—Self-written story reading competition—Occasion National Book Day and A P J Abdul

Kalam birthday—Venue is City Library at Churchgate. Rajan will pick him up at 5.00 pm and they both will
&
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Nobles
Merchants
SECTION IV- LITERARY GENRE- DRAMA
Q.5 (A) Complete the given activities as per the instructions: (4Marks)
(1) Fill in the blanks: @
(i) Drama has itsoriginin __________ theatre.
(ii) The early seeds of Modern Indian Drama can be found in the drama.

m__.__ characters thought process is

@

(4 Marks)
@
@)
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Q) A. Répondez aux questions en francais (5 ou choix) 10
2. Nommez deux musées i Paris.

d Cmbimdejom:yh-l-ilenl’é\fricr?

¢. De quelle Couleur est ton sac?

f Mmlamfmiund:\"mméu?

g Donn:zdﬂlxﬂjc:ﬁfspuwvummeilkm:mie.

Q1) B. Choisissez la bonne réponse 5
a Vanessa Paradis est une F
a. Actrice b. Réalisatrice c.Ecrivaine

b. est un pays francophone.
a L' Inde b. La Tunisie c.L'Angleterre

€. Le jour avant Samedi est
a. Vendredi b.Dimanche c.Lundi

d est pour les étudiants de 11ans & 15ans.
A. Lycée b. Université . Collége

€. On célébre la féte de No#l =
aEn hiver b.En automne c.En été

Grammaire
A. Conjugez les verbes au Présent. 8
‘& Jeme__ (venir) pas i la cérémonie.
b. Nous {mw)lﬁrésululspnrlaposte.
€ Vous_  (pouvoir) venir vous voir demain si tu veux,
d. L'année prochaine, elle — (apprendre) le japonais.
e Lesémdiants (manger) i Ia cantine.
B.Conjugez les verbes & I' Impératif
a de la patience, mes enfanis! (Avoir)

calme, Paul! ( Etre)
4 la piscine avec nos cousins! (Aller)

[

"
%B.Remphmhhmmpermmul's 5
- & Quiaimes-tu? La glace.
b. Rucha et toi, nous allons au cinéma .
~ ¢ Cesont
4. lls mangent du pain avec beurre.
Les enfiants vont & F'ecole.
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Q4) C;?réhtmion. 8
Vous étes en France et vous recevez ce courriel.
De: lucie.rousset(@laposte. fr
A: fatimah, .com
Envoyé Mercredi 8 juillet 2020 19:05:32
Objet: Invitation au pique-nique
Salut Fatimah,
tCmn.nnnHu-tu?Tuﬂt.imEm_ﬁIemmmm?Tunisqwhsmmmmimtbiﬂﬁﬁﬂ'ﬁnmkhim
;mamlammwmtcfumthvmmhlﬂwﬂlmmafmﬁlhi!s{miﬂc
ﬁumﬂm“mmkfnmsmummmammmﬂamshmi]:,l’aduanlm'luiln
e toute la semaine. Je te propose done d'aller au pique-nique au Parc Micaud vers 16k, un jour aprés
a Féte Nationale. Je vais inviter les autres également (Chen Li, Jean, Marion et Léa). Réponds-moi pour
mmmm présence. Je tembrasse bien fort et je vattends to reponse!

e

A. A qui écrit Lucie 7

B. Qu'estce quelle propose comme activité 7

C. A quelle heure elle propose de retrouver ?

D. Elle lui écrit pour

a. linviter 4 sa féte d'anniversaire b. l'inviter au pique-nique  c. l'inviter & une soirée
E. Lucie propose de retrouver le
a. 14 juillet
F. Elle propose de retrouver oii?
a. A Besancon b. A Marseille ¢.Au Parc Micaud
G. Qui écrit le courriel?
H. Qu'est 'objet d'éerire le courriel?

Q5) A. Traduisez en anglais,
Les loisirs préférés des Frangais
Les gens qui travaillent toute la semaine préférent rester & la maison pendant le week-end. Ils aiment bien
&outer de la musique, regarder un film 4 la 1élévision ou sur Netflix. Ils utilisent le temps pour laver leur
voiture et travailler dans le jardin. Les jeunes aiment beaucoup sortir. Ils passent beaucoup de temps aux cafés
wec leuwrs amis. Ils vont souvent au cinéma; ils vont également [also] au musée, au théiitre et au concert de
nusique. Les loisirs jouent un rdle important dans le processus du développement des jeunes. L'ordinateur
wend une place de plus en plus impertante dans la vie des jeunes. [Is utilisent I'ordinateur pour surfer sur
nternet, pour tenir un blog ct poster leurs photos. C'est leur moyen de rester en contact avec le monde.

)5) B. Traduisez en francais. 6
1. We are leaving for France today.

2. I play the guitar on weekends.

3. Let us buy this bracelet for our mother.

dialogue en bon ordre 6
n. Continuez tout droit et puis prenez la deuxiéme rue 4 gauche.

sieur. Bonne idée Au revoir !

ord. allez tout droit. Au carrefour, founez a droite.

b.15 juillet ¢.16 juillet

6

SAsEShEERIERE

20
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Q1. Fill in the Blanks 10 Marks

1. The unit helps user to enter data and commands into computer system
2. IRC stands for

3. In RDBMS ensures that all operation within the work unit are completed
successfully

The language is for manipulating and retrieve data in a relational database
The group of one or more coloums used to uniquely identify each row of a relation is

called

o

is the collection of inter related data.

data type hold time in DBMS

tag displays text in the smallest heading level.
attribute specify the path of an image file

0. is the shortcut key for copy.

Q2. State True or False 10 Marks

ALU can perform logical functions like comparison of data

A group of 4 bits is called byte

Data security means unauthorized users cant access data

There are 6 type of relationship in relational database design

Firewall is combination of both software and hardware

Hacking back account related information is an example of software piracy
<HR> is an Empty Tag.

Alert() function displays alert popup box with ok button,

. Phishing is l;!]:mulljrmniedout by email spoofing.

10. The web address begins with http:// means it is the sign of Secure website,

Q3. Multiple Choice Single answer 10 Marks
1. is the most consistent security model.

a. SSL b. DLL ¢.DCL d. SIL
2 is a method of converting the original message into cipher text,

~ a. Encryption b. Decryption c. Code d. Inscribe
is presenting someone else's work or idea as your won without their consent.

Se®E N

40 80 nliGhra il &0

b. plagiarism ¢. Copy write violation d. Cracking
used to create text with multiple lines.
c. =<hl> d. <Img>
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. is a valid built-in function in JavaScript «
a. goto() b. Parselnt() c. Document() $ sermel) b
6. In JavaSeript single line comment begin with .
a./ b\ ./l ./
7. mmmstj&mor;ﬁﬁlegﬁmthemobjm, lf'.
a. Select b. Grant c. Revoke d. update ]
8 isusedtodeletea database in DBMS A
a. Delete b. Drop ¢. Remove d. install
9. is also called as a Tuple.
a. Record b. Field ¢. colum d. Cell
10.1 petabyte is =
a. Terabyte b. Exabyte ¢. Megabyte d. byte !
Q4 Multiple choice two correct answers 20Marks i
L. and are decision making statements in JavaScript
a. Looping b. Calculating . If Statement  d. Ifelse statement e. while
2. Types of comments in JavaScript are and

a. Single Line Comment 2. Two Line Comment 3. Three Line Comment  d. Multiple Line

Comment e Nocomment

3. Methos attributes of <Form> tag has and value i
a. GET b. POST c. Action d. URL e. TCP/IP ¢
4, Hyperlink can be created in two ways , they are & ¢

a. Text Hyperlink b. Para Hyperlink c. Image Hyperlink d. Row Hyperlink e. Colum Hyperlini ¢
5. in relationship that exist between to relational database table when one table has key £

and that is used as a reference to the key of another table g
a. Private b, Public c.Primary d.Foreign . Encrypted h
6. Text has & data type A
a. Character b, String. C. Char d. Varchar e. Decimal v
7. IT Act 2000 was amended in the year and

a. 2008 b.2009 c. 2010 d. 2011 e. 2012

8. & are DBMS software

a. Photoshop b. MySQL ¢c. XML d. Oracle e. Windows

9. Computer crime is alternatively referred as : ceinis 1
a. Cyber Crime  b. Civil Crime c.E-crime  d. software crime  e. Normal Crime
e and are valid increment Statement in JavaScrip.

a. HA b.--A c. At++ d.>A e. <A s
Q5. Multiple choice three correct answers gMarks U
PRt ) % A and are the data type used in JavaScript i

a, String type b. Condition type  c. Method type d. Boolean type . Infinity
z,mDMWWMMMsMﬁcwaym ;

0
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— and data.
LInform  b.Creates ¢ Update d.Message ¢. Manage.

ﬁéyﬂtf: the following 4Marks
. W a. Secondary Memory
-RAM b. DOS
- Primary Key ¢. White Hackers
. Operating System d. Field
e. SQL
f. Uniquely identify cach row.
g. Primary Memory
h. deals with internet, cyber space.
Q.7 Answer briefly (Any 5) 10Marks

a. Read the following and answer the questions:
Debesh downloads a game from the internet. But soon he found that it was a trail version and it
would work only for 8days. He has a very good friend named Ashok, who is a computer
programmer. Debesh asked him to remove those 8 days trial period lock. Ashok created software
to decipher the code.
i. Does Debesh think ethically?
ii. Which cybercrime both are committing if they decipher the code.
b. Write any 4 advantages of DBMS.
c. What is WAN and its 2 advantages and 2 disadvantages of its.
d. What is copywrite violation
k e. What is ethics and morals
y f. What is one to one relationship in DBMS
g Write 4 properties of transaction.
h. Different between Data and Information
é\) Write HTML Program 5Marks

mfnte a HTML program using following specification.
1. Background color should be yellow.
2, Heading should be larger in size ‘P.D.Lions College of Comm. & Eco.’

3. Your name in bold & standard in underline
Or

) Write a HTML program using following specification.
1. Heading should be larger in size ‘FYJC Time Table’ & center of the page

2. Table background should be skyblue

B) Write Program in JavaScript SMarks
JavaScript program to input a number and check it is a even number or odd number
Or

m&nrhtpwto enter radius of a circle and find out its area (Area=3.14%*r%)

AR TRy
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Q.1 Select the correct option and rewrite the sentence, (Marks 5)

[ is known as a Self Service store.

a. Departmental b. Supermarket c.Industry

2.Raw Material is converted into finished product by industry.

a.Genetic b.Extractive ¢.Manufacturing

3.The members of Hindu Undivided Family business are called

a.Carpenter b.Co-parceners c.Parceners

4.Changes in ruling Government is an aspect of ______ environment.

a. Technological b. Legal . Political

5.Management uses 2 method of observation.

a.unscicntific b.artificial c.scientific

B. Match the following pairs. (Marks 5)
1. Peddlers a.2006

. 2. Private Company b.Policy Framing
i 3. Micro-manufacturing Sector c. 1991
4. Top level Management d.Carry Goods on Head

5. New Economic Policy e. Minimum 2

g fMinimum 7

d g.Carry Goods on Cant
h.Does not exceed Rs.25 lakhs
i. Administration

j-Does not exceed Rs. 1 lakh.

C. Rewrite and give one word or phrase for the following. (Marks §)
1.An economic activity done for eaming profit.
2 Trader who keeps large stock of goods.
3.An private sector organisation which can raise huge amount of Capital.
4. Apex institution for agricultural Finance,
5. Controllable factors of Business Environment,

D.Arrange in proper order. (Marks 5)
1. International Market, Staie Market, National Market, Local Market.
MMM.WIMH,C&M.
3 Business proposal, Selection of place, Selection of technology, Selection of Produet.
- ors, Managing Director, Shareholders, Purchase Manager.
Receipt of Documents, Delivery order,Customs Clearance.

FIF 1 PT.O
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: ncepts. (ABY 4) 3H Marky 5
Q.2 Explain the following > ‘One Price Shop s ;ﬂm Lmde
lllllfmmdymmﬁm 5. Lower Level Management VirOnmeny
your opinion. (Any 2) (Marks g
Q.3 Study the following Case/situation !':‘_o“l“u h:‘ 30 years. This business is ancestral busineg, ul?

(A) Mr. Raghunath is running busin€ss
Mr.Raghunath. Kiran and Naman, (w0 $005
1.Find out the type of business,
2. Who is Raghunath?
3. What Kiran and Naman are called?

of Mr. Raghunath is helping him along with thep

Pranay used to give orders to his subordinates about what iy,
done and which work is (o be done, In this organization, various employees like Pratap are dojy,
their work assigned by Pravin. In this company, Pravin submits his report of work completioy ta
Pranav after completing the work done by the elllpl-ﬂyﬂl like Pratap.

I.Identify different levels of management in the above mentioned company.

2.Find the level of Pranay in management of the company-
3. Explain the functions and role of Pratap in his company.

(C) Anurag is selling goods to Japan. Kavita is buying goods from the USA whereas Ganesh is
buying raw material from South Africa and after processing it sells finished goods to Malaysia,
1.Who is an exporter?

2.Who is the importer?

3. What is Entrepot Trade?

(B) While working in a company,

Q.4 Distinguish Between. (Any 3) (Marks 12)
1.Industry and Commerce
2.Top Level Management and Middle Level Management
3. Departmental Organisation and Statutory Corporations
4.Joint Hindu Family Firm and Joint Stock Company

1.State any Four Features of Sole Trading Concern.
2.State any Four Merits of Multinational Corporations.
3.State any Four Problems faced by Small Scale Industry,

Q.6 Justify the following statement. (Any 2) (Marks )
1. Transport creates place utility.
2.Management is an art.
1. The main objective of co-operative society is to provide services 1o |
4.Chain Stores sell a limited range of goods. R RCERE.

Q.7 Attempt the following. (Any 2) Marks 10
1.Explain the features of Government Company,
2.Write the features of Women’s Self Help Group.
3.What are the main features of Retailers

(Marks 5
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Q.1 A) Choose the correct option from following, (3)
1) Statements true for planning commission
a) Plunning commission was established in 1950
b) The P.M. is Ex-officio chairman of planning commission.
¢) Economic planning is time bound programme.
d) Economic planning is based on pre-determined objective

dptions: 1) & and b 2)a,b,cand d
Naandc 4) None of these

2) At present, the number of industries required license
a)l b) 5. c14 d)2
Jptions: 1)only a 2yaand b
3) None of these 4y only ¢

3) On an average, the per capita daily calorie requirement amount is
a) 2250 b) 2500 ¢) 2100 d) 2400

Options: 1) only o 2yaand b
3) only ¢. 4)only d

4) Person working for less than ___ hours per week is called as unemployed.
_ a)ls b) 14. ¢) 28. d) 24
)glm. 1) only a 2) only b
3onlyc 3) only d

ﬁ)hﬁiiuu reasons for population explosion in India.
) Hliteracy. b) Universalisation of marriage
¢) Joint family system d) Uplifiment in life style
ions: 1)aandb 2)candd
3)a,bandc 4) only d

. Complete the correlation: )
{ IB]} : Seasonal unemployment: Urban unemployment:; Industrial unemployment

2) jon expenditure in rural arca: 32 rupees per day:: Consumption expenditure in urban
area: rupees per day

3) Second stage of demography: High growth of population:: Low or stable population:
4) Miniratna companies: 2002:: Maharaina companies:
5) Planning commission: 1950 :: NITI Aayog : o

C) Find the odd word out, ()
1) Navratna status companies:
SPCL, 10C, ONGC, HPCL
|! Page 1 P.T.O
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:'nlenin;mumissimmﬂsﬁw‘ilhi :
A chairperson, full time members, 4 mhrmtmy.plrtumenm

3) High poverty ratio:
Chibattisgarh, Jharkhand, Bibar, Kerala

1) State with high rate of unemployment:
Goa, Punjab, Maharashtra, Tripura

5) Causes of low death rate: v R 5 5 4
Fall in matemal mortality, fall in infant mortality, fall in literacy. and improve in medical

D) Give economic terms: 3)
) Difference between birth rate and Death rate. _ ;
3) 1t is a type of self-unemployment where a person is fit for work but not willing to werk.
3) Poverty that can be completely eradicated.
4) Conscious and deliberate choice of economic priorities by some public authority.
5) Integration of domestic economy with world economy. .

.2A) Identify and explain the following (Any3). (06)
1) Savali's mother maintains a book of accounts for household purpose and plans the expenditure
accordingly.

2) Integration of domestic ecconomy with world economy. J :
3) Dhanajirac is a wealthy landlord, but his anaual income is relatively less in comparison to
entreprencur Raibahadur . "

and is desperately expecting 8 job. ;

4) Satish has completed his post-graduation
5) For a certain period of time China had adopted the policy of ‘One child per fumily’.

B) Distinguish between (Any3) (06)
1) Educated unemployment and Technological unemployment
2) Absolute poverty and Relative poverty
3) Birth rate and Death rate
4) NITI Aavog and planning commission
5) Privatisation and Globalisation
2.3) Write the answer of following (Any3) (12
1) Explain the any four causes of high birth rate
2) Measures taken for privatisation
3) Types of rural unemployment
4) Explain the different types of poverty.
5) Explain the main objectives of Economic Policy of 1991.

.4) State with reasons whether you agree or disagree with following statement (Any 3) (12)
1) Death rate is falling rapidly in India.
2) Educated unemployment is a part of rural unemployment.
3) Relative poverty is universal in nature,
4) Indian Oil Corporation is one of the public sector units among "Navratnas'
5) State govenment have more significant role to play under NIT1 Aayog

5) A)Write the answer from passage/ Figure/ table (Any 2) (8)
The finance minister of the central government presents the union budget before the parliament during
the month of February every year. The budget also referred to as the annual financial statement reflects
the estimated receipts and expenditure of the government for particular financial year that begins on
1st April and emll on 31‘51_ March next year. Changes in the tax structures are suggested in the
budget beside this provisions are also made for the allocating expenditure on defence, education,
research and development ete. The date for presenting budget has been shified to first February every
year this enable the generation of fund well in advancement of financial year. ; '

Questions:

1) where is the union budget usually represented? (n

2) What all aspects are considered while preparing the budget? (n

3) Explain the term of budget. )
Page 2 p.T.0
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‘unemployment

1) Production does mot increase o decrease with Increase or decrease in labour force. Mention the type

2ul“unlmplu}'nm..

} A worker thrown owt of job because of computerisation. Name the type of unemployment.
) In spite of being a graduate, Vasanl is sinirgm. i

4) Give an example of structum] snemployment,

C) Eirth rate and Denth rate in Dndis
Bt L i RO
Tiawe | Seroh rate | 2020 Sesthotete
120 s e xS e
1911 a1 T ] g
1921 an.3 S R ]
1931 FE S Kaak
1941 a9 27.4 AT
1951 ar.7 22.8
1961 a1.2 19.0
1971 A7.2 150
1981 32.5 1=.0
1991 253 ~_ o= T
Z001 .= HREY W00 = L =5
2011 20.97 7. AR

¢ 1) What was the survival rute in the year 19217
2) Identify the year which has lowest birth rate.
3) Give an opinion on above table.

Answer in details (Any 2)
 the features of the Economic Policy 1991,

Jain the types of industrial unemploymeat. :
the various measunss underiaken to check the population explosion.
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A. Select the correct answer from

; L he options given below and rewrite the statements. (5)
. The right of casting vote js given 1o

a) Director b) Secretary ¢ Chainnan
. General Meeting must have a notice of at least clear days,
a)7 b) 21 e
A proposal accepted in meeting is called 1A%
a) motion b) resolution €) proxy
Bank provides overdraft facilityto _ accauntholder.
i) current b) saving c) fixed deposit
is responsible for registering companies,
a) ROC b} SERA] ) Awclitors
State whether the following statements are True or False. (5)

A letter without date is incomplete.

Annual Report is prepared by members,

Inside address gives the name and address of the sender,

A director can remain absent for any number of Board Meetings.

Bank account of compuny is operated by shareholder.

Write a word or a term or a phrase which can substitute each of the following statements. (3)
An elected representatives of shareholders,

A written invitation given to the Director to attend the meeting

A company officer who is required 1o draft the minutes of the meeting.

Negotiable Instrument which can be discounted with the bank.

Organization responsible for administering Companies Act and regulating professional bodies like
ICAL ICSI, ete.

Arrange in proper order. (%)
2) Drafting Minutes

b} Sending notice

c) Confirming quorum
1) Heading

b) Complimentary closc
¢) Subject

i} Enclosure

b} Body of letter

c) Date

t) Motion

b) Resolution

}) Voting

) Signaure

) Salutation

i : L PT.O
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Q.2 Explain the following concept. (An¥ 4) (8)

1. Special resolution

2. Motion

3.Quorum

4, Ministry of corporate affairs
5. Business communication

6. General Meeting

3 Study the following case/situation and express your opinien.(Any 2) ; (6)

i ' X‘u’gud held mu.; General Meeting on 11th May 2018, On 15t June Mr. X, a Director of '
the company was arrested for a financial scam. Hence the shareholders of the company want {0 mmuve him
a) Can the company call for the next Annual General Meeting 1o be held immediately to remove the director?
b) Which meeting of members should the company hold to discuss removal of the Director?
¢) What type of resolution will be passed in this meeting for removal of the Director?

2. A General mecting of public limited company is to be held.
State the provision of quorum for -

1) meeting of the company which has less than 1000 members
b) meeting of the company which has more than 5000 members
¢} meeting of the company which has 2500 members

3. Mr. Rahul is the secretary who has been asked by the Managing Director to inform a director about
a decision taken in a board meeting in which he was absent. Which aspect of essentials of a good
business letter he follows:

) When be is giving the required information in a very short and brief manner

b) When he is using courleous words s0 as to be polite

¢) When he is giving the entire information about the meefing in i proper manner
(Clasity, concisencss, coherence, courtesy, completeness, correctness)

Q.4 Distinguish between the following.(Any 3) (12)
1. Motion and Resolution.
2.Current Account and Savings Account
3.Shareholder’s Meeting and Board Meeting
4. Loan and Overdrafl

Q.5. Answer in brief.(Any 2) (8)
1. Explain powers and duties of chairman?
3 State the merits of writlen communication.
3. Explain the essentials of good business letter.

Q.6 Justify the following statements. (Any 2) )
1. Meeting must be duly convened and properly constinuied,
2. Written communication is very effective.
3. The Board of Directors are the elected representatives of the sharcholders.
4. The secretary should observe certain precautions while corresponding with the Banks,

Q.7 Attempt the following questions. (Any 2)

. Draft a letter of Notice and Agenda of a Routine Board Mecting ‘o
2 Write a Letter for epening a current Account with the bank.
3. Write a letter to ROC seeking extension of time to hold the AGM.

0.8 Attempt the following questions. (Any 1)
| Draw the layout & Explain different parts of a business letter, ®
2. Explain mmm-rpmmm
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